
SECTION 6. Engine  

 
 

Version 1.0  Section 6 - Page 1 
 

 

 
 
 
 
 

SECTION 6. Engine  
 
 
 
 
  



SECTION 6. Engine  

 
 

Version 1.0  Section 6 - Page 2 
 

STEP 1 – MOTOR PLATE 
 

  

 

M2 nylock 

Refer: INTRO STEP 7 
Insertion Techniques 

Inserts can be flipped left/right depending on the motor wire orientation (16mm or 19mm spacing) 
that you have in your kit  refer next step for identification process. 

Selection of Black vs Light Grey will depend on the meshing process. 

Light Grey; is the standard starting position. 

Black gives; loose mesh (up) or tight mesh (down). 

19mm motor version  hole outwards 

16mm motor version  hole inwards 

Mesh: Standard / Tight(down) / Loose(up) 

 

GOTO NEXT STEP…! 



SECTION 6. Engine  

 
 

Version 1.0  Section 6 - Page 3 
 

STEP 2 – MOTOR 
 

  

If you have a “16mm motor holes orientation” the Insert 
hole faces inwards as shown… 
(Conversely if 19mm version then hole faces outwards) 

 

#1) Place motor as shown 
with the wires positioned 
at the bottom… 

#2) Measure this 
distance which will be: 
 Narrow 16mm  

OR  
 Wide 19mm 



SECTION 6. Engine  

 
 

Version 1.0  Section 6 - Page 4 
 

STEP 2 – MOTOR 
 

  

 

M3 x8mm 

Motor screws will 
be tightened when 
setting mesh in a 
future SECTION 



SECTION 6. Engine  

 
 

Version 1.0  Section 6 - Page 5 
 

STEP 3 – PINION 
 

  

 

Ensure flat of motor 
shaft is lined up with 
flat in Pinion hole 

Pinion face and 
motor shaft tip 
must be flush 

Note:  
pinion 
orientation 

M3 grub x3mm 



SECTION 6. Engine  

 
 

Version 1.0  Section 6 - Page 6 
 

STEP 4 – ENGINE BAY 
 

  

 

M2 nylock nut 
M1.6 x5mm 

L&R 

Refer: INTRO STEP 7 
Insertion Techniques 
 

M3 x70mm 

M3 bolts push all the 
way through Engine Bay 



SECTION 6. Engine  

 
 

Version 1.0  Section 6 - Page 7 
 

STEP 3 – ENGINE BAY 
 

  

 

M1.6 button x8mm 

‘V’ this side Note these ends 
angle outwards 

Feed motor wires one at a time 
through Engine Bay Front 
assembly, bend/manipulate 
wires as needed. 



SECTION 6. Engine  

 
 

Version 1.0  Section 6 - Page 8 
 

STEP 3 – ENGINE BAY 
 

  

 

M1.6 button x8mm 

L&R 



SECTION 6. Engine  

 
 

Version 1.0  Section 6 - Page 9 
 

STEP 4 – REAR BULKHEAD 
 

  

 

M2cs x8mm 

Flat face this side 

Flat face this side 

M2cs x8mm 

M1.6 button x8mm 

M1.6 button x8mm 



SECTION 6. Engine  

 
 

Version 1.0  Section 6 - Page 10 
 

STEP 4 – REAR BULKHEAD 
 

  

 

M3 nylock nut 

Refer: INTRO STEP 7 
Insertion Techniques 

#1) Feed motor wires through 
the Rear Bulkhead hole 

#2) Slide Bulkhead until seated flush 
against front of Engine Bay 



SECTION 6. Engine  

 
 

Version 1.0  Section 6 - Page 11 
 

STEP 4 – REAR BULKHEAD 
 

  

 

M3 x70mm 

Tighten (M3 x70mm from other motor plate 
end) progressively into the M3 nylock nuts, 
alternating with upper M3 x70mm bolts 

Tighten progressively and 
carefully, noting these upper 
M3 x70mm thread into the 
Motor Plate material only. 

M1.6 button x8mm 

M1.6 button x8mm 



SECTION 6. Engine  

 
 

Version 1.0  Section 6 - Page 12 
 

STEP 5 – MOTOR WIRES ROUTING 
 

  

 

Pull gently and bend Motor wire 
(with blue heat shrink) as you 
route it into the channel upper 
area as shown 

#1) Repeat similar process, next for the 
motor wire with yellow heat shrink through 
the middle of channel and finally the 
orange heat shrink wire through the lower 
part of the channel as shown 

#2) Bend wires ~90 degrees 
as they exit the channel here 



SECTION 6. Engine  

 
 

Version 1.0  Section 6 - Page 13 
 

STEP 6 – BULKHEAD WIRE COVER 
 

  

 

M2cs x8mm 

Position the Cover first, 
ensuring wires stay in their 
channel, then secure with 
the M2cs x8mm bolts 



SECTION 6. Engine  

 
 

Version 1.0  Section 6 - Page 14 
 

STEP 7 – ENGINE BAY & CHASSIS 
 

 

 

M2.5 x20mm 

L&R Ensure these hex tongues insert into 
the corresponding slots in the Bulkhead 

Tighten alternatively left then 
right until no gap remains 
between Engine Bay and Chassis 


